Security: Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s): Maturity Date: Ref CPI on Dated Date:			TIPS of April 2028 Sumber: Sum		3-3/8% 30-1/2-Year TIPS TIPS of April 2032 912810FQ6 October 15, 2001 October 15, 2001 April 15, 2032 177.50000	3-3/8% 10-Year TIPS Series A-2012 9128277J5 January 15, 2002 January 15, 2002 January 15, 2012 177.56452	
			Ref CPI	Index Ratio	Index Ratio	Index Ratio	Index Ratio
Dat			KG CI I	muca Natio	muca Rau	Inuca Natio	Inuca Ratio
February	1	2011	218.80300	1.35281	1.33097	1.23269	1.23225
February	2	2011	218.81643	1.35289	1.33105	1.23277	1.23232
February	3	2011	218.82986	1.35297	1.33114	1.23284	1.23240
February	4	2011	218.84329	1.35306	1.33122	1.23292	1.23247
February	5	2011	218.85671	1.35314	1.33130	1.23300	1.23255
February	6	2011	218.87014	1.35322	1.33138	1.23307	1.23262
February	7	2011	218.88357	1.35331	1.33146	1.23315	1.23270
February	8	2011	218.89700	1.35339	1.33154	1.23322	1.23277
February	9	2011	218.91043	1.35347	1.33163	1.23330	1.23285
February	10	2011	218.92386	1.35355	1.33171	1.23337	1.23293
February	11	2011	218.93729	1.35364	1.33179	1.23345	1.23300
February	12	2011	218.95071	1.35372	1.33187	1.23353	1.23308
February	13	2011	218.96414	1.35380	1.33195	1.23360	1.23315
February	14	2011	218.97757	1.35389	1.33203	1.23368	1.23313
February	15	2011	218.99100	1.35397	1.33212	1.23375	1.23323
February	16	2011	219.00443	1.35405	1.33220	1.23383	1.23338
February	17	2011	219.01786	1.35414	1.33228	1.23390	1.23346
February	18	2011	219.03129	1.35422	1.33236	1.23398	1.23353
February	19	2011	219.04471	1.35430	1.33244	1.23405	1.23361
February	20	2011	219.05814	1.35438	1.33252	1.23413	1.23368
February	21	2011	219.07157	1.35447	1.33261	1.23413	1.23376
February	22	2011	219.07137	1.35455	1.33269	1.23421	1.23383
February	23	2011	219.08300	1.35463	1.33277	1.23426	1.23391
February	23 24	2011	219.09843	1.35472	1.33285	1.23443	1.23398
February	24 25	2011	219.11186	1.35472	1.33283	1.23443	1.23398
February	25 26	2011	219.12529	1.35480	1.33293	1.23451	1.23414
•	26 27	2011	219.138/1 219.15214	1.35488 1.35497	1.33301	1.23458	1.23414
February	28	2011	1				1.23421
February	28	2011	219.16557	1.35505	1.33318	1.23474	1.23429
CPI-U (NSA) for: October 201		218.711	November 2010 218	3.803 Decembe	r 2010 219.179		

Security: Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s):				3% 10-Year TIPS Series C-2012 912828AF7 July 15, 2002 July 15, 2002 October 15, 2002 January 15, 2003	1-7/8% 10-Year TIPS Series C-2013 912828BD1 July 15, 2003 July 15, 2003 October 15, 2003	2% 10-Year TIPS Series A-2014 912828BW9 January 15, 2004 January 15, 2004 April 15, 2004	2% 10-Year TIF Series D-2014 912828CP3 July 15, 2004 July 15, 2004 October 15, 2004
Maturity Date: Ref CPI on Dated Date:				July 15, 2012 179.80000	July 15, 2013 183.66452	January 15, 2014 184.77419	July 15, 2014 188.49677
Date Ref CPI			Ref CPI	Index Ratio	Index Ratio	Index Ratio	Index Ratio
February	1	2011	218.80300	1.21692	1.19132	1.18416	1.16078
February	2	2011	218.81643	1.21700	1.19139	1.18424	1.16085
February	3	2011	218.82986	1.21707	1.19147	1.18431	1.16092
February	4	2011	218.84329	1.21715	1.19154	1.18438	1.16099
February	5	2011	218.85671	1.21722	1.19161	1.18445	1.16106
February	6	2011	218.87014	1.21730	1.19168	1.18453	1.16113
February	7	2011	218.88357	1.21737	1.19176	1.18460	1.16121
February	8	2011	218.89700	1.21745	1.19183	1.18467	1.16128
February	9	2011	218.91043	1.21752	1.19190	1.18475	1.16135
February	10	2011	218.92386	1.21760	1.19198	1.18482	1.16142
February	11	2011	218.93729	1.21767	1.19205	1.18489	1.16149
February	12	2011	218.95071	1.21775	1.19212	1.18496	1.16156
February	13	2011	218.96414	1.21782	1.19220	1.18504	1.16163
February	14	2011	218.97757	1.21790	1.19227	1.18511	1.16170
February	15	2011	218.99100	1.21797	1.19234	1.18518	1.16178
February	16	2011	219.00443	1.21804	1.19242	1.18525	1.16185
February	17	2011	219.01786	1.21812	1.19249	1.18533	1.16192
February	18	2011	219.03129	1.21819	1.19256	1.18540	1.16199
February	19	2011	219.04471	1.21827	1.19263	1.18547	1.16206
February	20	2011	219.05814	1.21834	1.19271	1.18555	1.16213
February	21	2011	219.07157	1.21842	1.19278	1.18562	1.16220
February	22	2011	219.08500	1.21849	1.19285	1.18569	1.16227
February	23	2011	219.09843	1.21857	1.19293	1.18576	1.16235
February	24	2011	219.11186	1.21864	1.19300	1.18584	1.16242
February	25	2011	219.12529	1.21872	1.19307	1.18591	1.16249
February	26	2011	219.13871	1.21879	1.19315	1.18598	1.16256
February	27	2011	219.15214	1.21887	1.19322	1.18605	1.16263
February	28	2011	219.16557	1.21894	1.19329	1.18613	1.16270
CPI-U (NSA) for: October 201		0 218.711	November 2010 218.8	03 Decemb	er 2010 219.179		

Security: Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s): Maturity Date: Ref CPI on Dated Date:			Description: CUSIP Number: Dated Date: Original Issue Date:		escription: USIP Number: ated Date: riginal Issue Date:		2-3/8% 20-1/2-Year TIPS TIPS of January 2025 912810FR4 July 15, 2004 July 30, 2004 January 31, 2005 July 29, 2005	1-5/8% 10-Year TIPS Series A-2015 912828DH0 January 15, 2005 January 18, 2005 April 15, 2005	Series D-2015 912828EA4 July 15, 2005 July 15, 2005 October 17, 2005	2% 10-Year TIPS Series A-2016 912828ET3 January 15, 2006 January 17, 2006 April 17, 2006
				January 15, 2025 188.49677	January 15, 2015 190.94516	July 15, 2015 194.50968	January 15, 2016 198.47742			
Date Ref CPI			Ref CPI	Index Ratio	Index Ratio	Index Ratio	Index Ratio			
February	1	2011	218.80300	1.16078	1.14589	1.12490	1.10241			
February	2	2011	218.81643	1.16085	1.14596	1.12496	1.10248			
February	3	2011	218.82986	1.16092	1.14604	1.12503	1.10254			
February	4	2011	218.84329	1.16099	1.14611	1.12510	1.10261			
February	5	2011	218.85671	1.16106	1.14618	1.12517	1.10268			
February	6	2011	218.87014	1.16113	1.14625	1.12524	1.10275			
February	7	2011	218.88357	1.16121	1.14632	1.12531	1.10281			
February	8	2011	218.89700	1.16128	1.14639	1.12538	1.10288			
February	9	2011	218.91043	1.16135	1.14646	1.12545	1.10295			
February	10	2011	218.92386	1.16142	1.14653	1.12552	1.10302			
February	11	2011	218.93729	1.16149	1.14660	1.12559	1.10308			
February	12	2011	218.95071	1.16156	1.14667	1.12565	1.10315			
February	13	2011	218.96414	1.16163	1.14674	1.12572	1.10322			
February	14	2011	218.97757	1.16170	1.14681	1.12579	1.10329			
February	15	2011	218.99100	1.16178	1.14688	1.12586	1.10335			
February	16	2011	219.00443	1.16185	1.14695	1.12593	1.10342			
February	17	2011	219.01786	1.16192	1.14702	1.12600	1.10349			
February	18	2011	219.03129	1.16199	1.14709	1.12607	1.10356			
February	19	2011	219.04471	1.16206	1.14716	1.12614	1.10363			
February	20	2011	219.05814	1.16213	1.14723	1.12621	1.10369			
February	21	2011	219.07157	1.16220	1.14730	1.12628	1.10376			
February	22	2011	219.08500	1.16227	1.14737	1.12634	1.10383			
February	23	2011	219.09843	1.16235	1.14744	1.12641	1.10390			
February	24	2011	219.11186	1.16242	1.14751	1.12648	1.10396			
February	25	2011	219.12529	1.16249	1.14758	1.12655	1.10403			
February	26	2011	219.13871	1.16256	1.14765	1.12662	1.10410			
February	27	2011	219.15214	1.16263	1.14772	1.12669	1.10417			
February	28	2011	219.16557	1.16270	1.14779	1.12676	1.10423			
CPI-U (NSA) for: October 201		218.711	November 2010 21	8.803 Decembe	r 2010 219.179					

Security: Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s): Maturity Date: Ref CPI on Dated Date:				2% 20-Year TIPS TIPS of January 2026 912810FS2 January 15, 2006 January 31, 2006 July 31, 2006 January 15, 2026 198.47742	2-3/8% 5-Year TIPS Series G-2011 912828FB1 April 15, 2006 April 28, 2006 October 31, 2006 April 15, 2011 198.48667	2-1/2% 10-Year TIPS Series D-2016 912828FL9 July 15, 2006 July 17, 2006 October 16, 2006 July 15, 2016 201.95161	2-3/8% 10-Year T Series A-2017 912828GD6 January 15, 2007 January 16, 2007 April 16, 2007 January 15, 2017 201.66452
Date Ref CPI			Ref CPI	Index Ratio	Index Ratio	Index Ratio	Index Ratio
г.1		2011	210,00200	1 10241	1 10226	1.00244	1.00400
February	1	2011	218.80300	1.10241	1.10236	1.08344	1.08499
February	2	2011	218.81643	1.10248	1.10242	1.08351	1.08505
February	3	2011	218.82986	1.10254	1.10249	1.08358	1.08512
February	4	2011	218.84329	1.10261	1.10256	1.08364	1.08518
February	5	2011	218.85671	1.10268	1.10263	1.08371	1.08525
February	6	2011	218.87014	1.10275	1.10269	1.08378	1.08532
February	7	2011	218.88357	1.10281	1.10276	1.08384	1.08538
February	8	2011	218.89700	1.10288	1.10283	1.08391	1.08545
February	9	2011	218.91043	1.10295	1.10290	1.08397	1.08552
February	10	2011	218.92386	1.10302	1.10297	1.08404	1.08558
February	11	2011	218.93729	1.10308	1.10303	1.08411	1.08565
February	12	2011	218.95071	1.10315	1.10310	1.08417	1.08572
February	13	2011	218.96414	1.10322	1.10317	1.08424	1.08578
February	14	2011	218.97757	1.10329	1.10324	1.08431	1.08585
February	15	2011	218.99100	1.10335	1.10330	1.08437	1.08592
February	16	2011	219.00443	1.10342	1.10337	1.08444	1.08598
February	17	2011	219.01786	1.10349	1.10344	1.08451	1.08605
February	18	2011	219.03129	1.10356	1.10351	1.08457	1.08612
February	19	2011	219.04471	1.10363	1.10357	1.08464	1.08618
February	20	2011	219.05814	1.10369	1.10364	1.08471	1.08625
February	21	2011	219.07157	1.10376	1.10371	1.08477	1.08632
February	22	2011	219.08500	1.10383	1.10378	1.08484	1.08638
February	23	2011	219.09843	1.10390	1.10384	1.08491	1.08645
February	24	2011	219.11186	1.10396	1.10391	1.08497	1.08652
February	25	2011	219.12529	1.10403	1.10398	1.08504	1.08658
February	26	2011	219.13871	1.10410	1.10405	1.08511	1.08665
February	27	2011	219.15214	1.10417	1.10412	1.08517	1.08672
February	28	2011	219.16557	1.10423	1.10418	1.08524	1.08678
CPI-U (NSA) for: October 201		0 1 1 2010	218.711	November 2010 2	18.803 Decembe	er 2010 219.179	

Security: Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s): Maturity Date: Ref CPI on Dated Date:				2-3/8% 20-Year TIPS TIPS of January 2027 912810PS1 January 15, 2007 January 31, 2007 July 31, 2007 January 15, 2027 201.66452	2% 5-Year TIPS Series J-2012 912828GN4 April 15, 2007 April 30, 2007 October 31, 2007 April 15, 2012 202.92140		2-5/8% 10-Year TIPS Series D-2017 912828GX2 July 15, 2007 July 16, 2007 October 15, 2007 July 15, 2017 207.25639	1-5/8% 10-Year T Series A-2018 912828HN3 January 15, 2008 January 15, 2008 April 15, 2008 January 15, 2018 209.49645	
Date Ref CPI			Ref CPI	Index Ratio	Index Ratio		Index Ratio	Index Ratio	
г	1	2011	210 00200	240,0000	1.0502.5		1.05571	1.04440	
February	1	2011	218.80300	1.08499	1.07826		1.05571	1.04442	
February	2 3	2011	218.81643	1.08505	1.07833 1.07840		1.05578	1.04449	
February	3 4	2011 2011	218.82986 218.84329	1.08512 1.08518	1.07846	ł	1.05584 1.05591	1.04455 1.04462	
February	5	2011		1.08518	1.07853	ŀ	1.05591	1.04462	
February			218.85671			ŀ			
February	6	2011	218.87014	1.08532	1.07860	ŀ	1.05604	1.04474	
February	7	2011	218.88357	1.08538	1.07866		1.05610	1.04481	
February	8	2011	218.89700	1.08545	1.07873	ŀ	1.05617	1.04487	
February	9	2011	218.91043	1.08552	1.07879	-	1.05623	1.04494	
February	10	2011	218.92386	1.08558	1.07886		1.05629	1.04500	
February	11	2011	218.93729	1.08565	1.07893	-	1.05636	1.04506	
February	12	2011	218.95071	1.08572	1.07899		1.05642	1.04513	
February	13	2011	218.96414	1.08578	1.07906	ŀ	1.05649	1.04519	
February	14	2011	218.97757	1.08585	1.07913	ŀ	1.05655	1.04526	
February	15	2011	218.99100	1.08592	1.07919	ŀ	1.05662	1.04532	
February	16	2011 2011	219.00443 219.01786	1.08598	1.07926 1.07932		1.05668	1.04538	
February	17		1	1.08605			1.05675 1.05681	1.04545	
February February	18 19	2011 2011	219.03129 219.04471	1.08612 1.08618	1.07939 1.07946		1.05681	1.04551 1.04558	
February	20	2011	219.04471	1.08625	1.07946		1.05688	1.04558	
•	20	2011	219.03814	1.08625	1.07952		1.05694	1.04564	
February February	21	2011	219.07157	1.08638	1.07965		1.05701	1.04571	
February	22	2011	219.08500	1.08645	1.07965		1.05707	1.04577	
February	23 24	2011	219.09843	1.08652	1.07972		1.05714	1.04583	
February	25	2011	219.11186	1.08658	1.07985		1.05727	1.04596	
February	25 26	2011	219.12329	1.08665	1.07983		1.05727	1.04603	
February	26 27	2011	219.138/1 219.15214	1.08672	1.07992		1.05733	1.04603	
February	28	2011	219.13214 219.16557	1.08678	1.07999		1.05746	1.04609	
1 Coluary	20	2011	219.10337	1.00076	1.00003		1.03740	1.04013	
CPI-U (NSA) for: October 201			Ootobor 2010	218.711	November 2010	218.80	3 Decembe	r 2010 219.179	

Security: Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s): Maturity Date: Ref CPI on Dated Date:				1-3/4% 20-Year TIPS TIPS of January 2028 912810PV4 January 15, 2008 January 31, 2008 July 31, 2008 January 15, 2028 209.49645	0-5/8% 5-Year TIPS Series J-2013 912828HW3 April 15, 2008 April 30, 2008 October 31, 2008 April 15, 2013 211.36607	1-3/8% 10-Year TIPS Series D-2018 912828JE1 July 15, 2008 July 15, 2008 October 15, 2008 July 15, 2018 215.63997	2-1/8% 10-Year TII Series A-2019 912828JX9 January 15, 2009 January 15, 2009 April 15, 2009 January 15, 2019 214.69971
Date	e		Ref CPI	Index Ratio	Index Ratio	Index Ratio	Index Ratio
E-h	1	2011	219 90200	1.04442	1.02510	1.01467	1.01011
February February	1 2	2011 2011	218.80300 218.81643	1.04442 1.04449	1.03519 1.03525	1.01467 1.01473	1.01911 1.01917
February	3	2011	218.82986	1.04449	1.03525	1.01479	1.01917
February	3 4	2011	218.84329	1.04455	1.03531	1.01479	1.01924
February	5	2011	218.85671	1.04468	1.03544	1.01483	1.01936
February	<i>5</i>	2011	218.87014	1.04474	1.03550	1.01492	1.01936
February	7	2011	218.88357	1.04474	1.03557	1.01504	1.01942
February	8	2011	218.89700	1.04487	1.03563	1.01504	1.01949
February February	8 9	2011	218.89700	1.04487	1.03569	1.01510	1.01955
•	10	2011	218.91043	1.04494	1.03576	1.01517	1.01961
February	10		218.92386	1.04500	1.03576	1.01523	1.01967
February February	11	2011 2011	218.95071	1.04506	1.03582	1.01529	1.01974
•	12	2011					1.01980
February	13 14	2011	218.96414 218.97757	1.04519 1.04526	1.03595 1.03601	1.01542 1.01548	1.01986
February	15	2011	218.99100	1.04526	1.03607	1.01548	1.01992
February	15 16	2011	218.99100	1.04532	1.03607	1.01554	1.01999
February February	16	2011	219.00443	1.04538	1.03620	1.01566	1.02005
February	17	2011	219.01786	1.04543	1.03620	1.01573	1.02011
February	19	2011	219.03129 219.04471	1.04558	1.03633	1.01579	1.02018
February	20	2011	219.04471	1.04564	1.03639	1.01585	1.02024
February	20	2011	219.03814	1.04504	1.03646	1.01585	1.02030
February	21	2011	219.07157 219.08500	1.04571	1.03652	1.01591	1.02036
•	23	2011	219.08300	1.04577	1.03658	1.01604	1.02049
February February	23 24	2011	219.09843	1.04583	1.03665	1.01604	1.02049
February February	24 25	2011	219.11186	1.04590	1.03663	1.01616	1.02055
February	25 26	2011	219.12529 219.13871	1.04596	1.03671	1.01616	1.02061
February	26 27	2011	219.13871 219.15214	1.04609	1.03684	1.01622	1.02068
February	27	2011	219.15214 219.16557	1.04609	1.03684	1.01629	1.02074
1 coruary	40	2011	219.10337	1.04013	1.05090	1.01055	1.02000
CPI-U (NSA) for: October 201		218.711	November 2010 21				

Security: Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s): Maturity Date: Ref CPI on Dated Date:				2-1/2% 20-Year TIPS TIPS of January 2029 912810PZ5 January 15, 2009 January 30, 2009 July 31, 2009 January 15, 2029 214.69971	1-1/4% 5-Year TIP Series K-2014 912828KM1 April 15, 2009 April 30, 2009 October 30, 2009 April 15, 2014 211.63300	S 1-7/8% 10-Year TIPS Series D-2019 912828LA6 July 15, 2009 July 15, 2009 October 15, 2009 July 15, 2019 213.51819	1-3/8% 10-Year T Series A-2020 912828MF4 January 15, 2010 January 15, 2010 April 15, 2010 January 15, 2020 216.24610
Date Ref CPI			Ref CPI	Index Ratio	Index Ratio	Index Ratio	Index Ratio
E.I.		2011	210,00200	1.01011	1.02200	1.02475	1.01102
February	1	2011	218.80300	1.01911	1.03388	1.02475	1.01182
February	2	2011	218.81643	1.01917	1.03394	1.02481	1.01189
February	3	2011	218.82986	1.01924	1.03401	1.02488	1.01195
February	4	2011	218.84329	1.01930	1.03407	1.02494	1.01201
February	5	2011	218.85671	1.01936	1.03413	1.02500	1.01207
February	6	2011	218.87014	1.01942	1.03420	1.02507	1.01213
February	7	2011	218.88357	1.01949	1.03426	1.02513	1.01220
February	8	2011	218.89700	1.01955	1.03432	1.02519	1.01226
February	9	2011	218.91043	1.01961	1.03439	1.02525	1.01232
February	10	2011	218.92386	1.01967	1.03445	1.02532	1.01238
February	11	2011	218.93729	1.01974	1.03451	1.02538	1.01245
February	12	2011	218.95071	1.01980	1.03458	1.02544	1.01251
February	13	2011	218.96414	1.01986	1.03464	1.02551	1.01257
February	14	2011	218.97757	1.01992	1.03470	1.02557	1.01263
February	15	2011	218.99100	1.01999	1.03477	1.02563	1.01269
February	16	2011	219.00443	1.02005	1.03483	1.02569	1.01276
February	17	2011	219.01786	1.02011	1.03489	1.02576	1.01282
February	18	2011	219.03129	1.02018	1.03496	1.02582	1.01288
February	19	2011	219.04471	1.02024	1.03502	1.02588	1.01294
February	20	2011	219.05814	1.02030	1.03508	1.02595	1.01300
February	21	2011	219.07157	1.02036	1.03515	1.02601	1.01307
February	22	2011	219.08500	1.02043	1.03521	1.02607	1.01313
February	23	2011	219.09843	1.02049	1.03528	1.02613	1.01319
February	24	2011	219.11186	1.02055	1.03534	1.02620	1.01325
February	25	2011	219.12529	1.02061	1.03540	1.02626	1.01331
February	26	2011	219.13871	1.02068	1.03547	1.02632	1.01338
February	27	2011	219.15214	1.02074	1.03553	1.02639	1.01344
February	28	2011	219.16557	1.02080	1.03559	1.02645	1.01350
CPI-U (NSA) for: October 201		218.711	November 2010 2	218.803 Decembe	er 2010 219.179		

Security: Description: CUSIP Number Dated Date: Original Issue Additional Issue Maturity Date	Date: ue Date(s)			2-1/8% 30-Year TIPS TIPS of February 2040 912810QF8 February 15, 2010 February 26, 2010 August 31, 2010 February 15, 2040 216,13950	0-1/2% 5-Year TIP: Series K-2015 912828MY3 April 15, 2010 April 30, 2010 October 29, 2010 April 15, 2015 216.71220	S 1-1/4% 10-Year TIPS Series D-2020 912828NM8 July 15, 2010 July 15, 2010 September 15, 2010 November 15, 2010 July 15, 2020 218.08532	
Ref CPI on Dated Date: Date Ref CPI				Index Ratio	Index Ratio	Index Ratio	
			+				
February	1	2011	218.80300	1.01232	1.00965	1.00329	
February	2	2011	218.81643	1.01239	1.00971	1.00335	
February	3	2011	218.82986	1.01245	1.00977	1.00341	
February	4	2011	218.84329	1.01251	1.00983	1.00348	
February	5	2011	218.85671	1.01257	1.00990	1.00354	
February	6	2011	218.87014	1.01263	1.00996	1.00360	
February	7	2011	218.88357	1.01270	1.01002	1.00366	
February	8	2011	218.89700	1.01276	1.01008	1.00372	
February	9	2011	218.91043	1.01282	1.01014	1.00378	
February	10	2011	218.92386	1.01288	1.01021	1.00385	
February	11	2011	218.93729	1.01294	1.01027	1.00391	
February	12	2011	218.95071	1.01301	1.01033	1.00397	
February	13	2011	218.96414	1.01307	1.01039	1.00403	
February	14	2011	218.97757	1.01313	1.01045	1.00409	
February	15	2011	218.99100	1.01319	1.01052	1.00415	
February	16	2011	219.00443	1.01326	1.01058	1.00421	
February	17	2011	219.01786	1.01332	1.01064	1.00428	
February	18	2011	219.03129	1.01338	1.01070	1.00434	
February	19	2011	219.04471	1.01344	1.01076	1.00440	
February	20	2011	219.05814	1.01350	1.01083	1.00446	
February	21	2011	219.07157	1.01357	1.01089	1.00452	
February	22	2011	219.08500	1.01363	1.01095	1.00458	
February	23	2011	219.09843	1.01369	1.01101	1.00465	
February	24	2011	219.11186	1.01375	1.01107	1.00471	
February	25	2011	219.12529	1.01381	1.01113	1.00477	
February	26	2011	219.13871	1.01388	1.01120	1.00483	
February	27	2011	219.15214	1.01394	1.01126	1.00489	
February	28	2011	219.16557	1.01400	1.01132	1.00495	
CPI-U (NSA) for: October 201		218.711	November 2010 2	18.803 Decembe	r 2010 219.179		